fest cortectiond Sl oh \

T\ﬂ&’ CORN¢ d‘ (Amuff 'S 2 because,

osed o0 e 4 g funchons . Co3.© -:;;_f}dd

1% 505% =2 e e
oﬁ T X XUsY

TS

L1 3 s dhe cor redr answer e ause when
| USlm‘\‘m mumﬂ \Lc A TREOLY

oSO CGS”CZ?;) R TS

Hhe «[lna Mowu will always be +he same a5

He mbal el Om‘w

3. gﬁ: w ‘ «g@@g

Vgt = 0 7+29.%h V g0 wmw/

|1 1s e coiect onswer becatse . Waen us g

e eq uahion

| d =Vt +'feat™ an

50= 0(e)* /o (% ‘5)(65 f = SO

d
s0: 43¢ Newo g |\g

|ve 19 St J. 195

AL 15 e Covreck anguwer because wih

iy Lacton A path w\\@c Shoited s uee Ml 3

bs lower becunse He & ﬁ s 1 down,_and

oy (u(,*fuﬁ pubﬂfi) Y us f%‘F‘lle, when o 15 I H’m(‘;,

t 3 . DLS \t? _,e - (/l LDIt O



Tm, Loeceet answer S Y bteayse o

0RNLC Img) WOOL IR S pertd X e
A S <

g0 (M 00) \§ ‘,GW'({\}W‘ Poen an of N{_a\ﬁ? T

1




